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1. A six-bar linkage is shown in Fig. 1, All links have negligible mass and the frictions are
negligible. If the magnitude of the input force, iy, is 600 N, find the magnitude of the

output force, Fou- (25%)
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l Fig. 1

0 (shown in Fig. 2). The Cartesian components of its

2. The helicopter starts from rest at t =
=1.8—-0.36t m/s?, where t is in seconds. Determine

acceleration are a, = 0.6t m/s” and a,
the tangential and normal components of the acceleration at t = 6 8. (25%)




4,

° ’ Fig. 2

As shown in Fig. 3, the motor M exerts a constant force P on the cable wrapped around
the reel’s outer rim to lift the 50-kg cylinder. The reel has a mass of 25 kg, and the radius
of gyration about its center of mass A is K= 125 mm. Initially, the system is at rest. If the
velocity of the cylinder is 2 m/s after it has traveled a distance of 2 m, determine the

required power that must be supplied to the motor at the instant. (25%})

Fig. 3

The fork lift shown in Fig. 4 has a boom with a mass of 600 kg and a mass center at G If
the vertical acceleration of the boom is 2.5 m/s®, determine the horizontal and vertical
reactions at the pin A and on the short link BC when the 1000 kg load is lifted. (25%)

Fig. 4




